November 21

Get clickers
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Discussion: Angular Momentum Principle
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Discussion: Torque
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Discussion: Conservation of Angular Momentum
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Discussion: Translation vs. Rotational Angular Momentum
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Clicker Questions: Merry-Go-Round

Q3

Child runs and jumps on playground ‘

merry-go-round. For the system of
the child + disk (excluding the axle
and the Earth), which statement is
true from just before to just after
impact?

(K = total kinetic energy,

H
P = total linear momentum,

L = total angular momentum about
the axle)
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A)& PR_and L do not
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B) R_and-L donot shange
C) L does not change

D) K\a,nd\f “do net change
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